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QUESTION 1: MULTIPLE CHOICE

Four possible options are provided as answers. Choose the correct option by writing

only the letter next to the question number (1.1 - 1.5).

1.1 Liquids which mix homogeneously in all proportions are said to be ... .
A suspensions
B  miscible
C emulsions
D  aerosols (2)

1.2 Solid carbon dioxide turns directly into a gas when heated. What is this (
process called?

A Condensation

B Evaporation

C  Sublimation

D  Boiling (2)
1.3 The sum of the number of protons and neutrons in an atom gives its ... .

A atomic number

B  electronegativity
C electron affinity
D

mass number (2)

[6]
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QUESTION 2

Mixtures are a combination of two or more pure substances.

2.1 Name the two types of mixtures that can be formed. (2)
2.2 Explain the difference between the two types of mixtures. (2)
2.3 State the method by which each of the following mixtures can be separated.
2.3.1 Alcohol and water (N
2.3.2 Qil and water (1)
[6]
)
QUESTION 3

Learners, wishing to investigate the effect of heat on water, placed some ice cubes in a
beaker and allowed it to melt while resting on a table. Temperature readings were
recorded every 5 minutes for 1 hour. The results are given in the table below.

Time in mins 0 | & 101520 25|30|35|401|45] 50| 55 ] 60
Temperaturein°C  |-12-8 -4 -2/ 0 002|610 14 | 18 | 22

3.1 Use the graph paper supplied to plot a line graph of the results shown in the

table above. (5)

Lo >3.2 What was happening between 20 and 30 minutes? )
3.3 State the energy conversion that takes place between 20 and 30 minutes. (2)

(8]
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QUESTION 4
4.1 Consider the following element X
33
16 X
4.1.1 How many neutrons does this element have?
4.1.2 Draw the energy level diagram for an jon of this element.
4.2 Magnesium is an element that exists naturally in the form of three isotopes.

4.2.1 What are isotopes?

4,2.2 Which sub-atomic particle is responsible for the formation of
isotopes.

423 The percentage abundance of each isotope is given below:

Magnesium - 24 78,99%
Magnesium -~ 25 10,00%
Magnesium - 26 11,01%

Calculate the relative atomic mass of a magnesium atom.

QUESTION 6

The graph of the first ionisation energies of elements in period 3 is given below.
- 16004

1200 ~-
800+
400 +

First lonisation
Energy in kJ.mol

| l ] |
i 1

| | I |
Na Mg Al 8i P 8 ClI Ar

0

5.1 What is meant by first ionisation eneray?

52 5.2.1 Stéte the trend in ionisation energies as we move from left to right
across a period.

5.2.2 Give an explanation for your answer in question 5.2.1 above.

5.3 Explain the difference in ionisation energies between magnesium (Mg) and
Aluminium (Al).

»

(4)
[10]

(1)
(1)

3)

(3)
[8]
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QUESTION 6

6.1 Covalent bonding occurs when two non-metal atoms overlap and share their
valence electrons.
6.1.1 What type of substances form as a result of covalent bonding? (1)
6.1.2 Use electron dot diagrams to show how hydrogen and oxygen
combine to from water. A (3)
6.2 Lithium metal and chlorine gas can combine to form lithium chloride. Which
substance will lose electron/s? (1)
6.3 Give the name of the energy involved in each of the following processes.
. 6.3.1 A diatomic substance is separated into two individual atoms. (1
)
' 6.3.2  An atom gains electrons. 1)
6.4 Ammonium carbonate is an ionic compound.
Write down the formula for the
6.4.1 cation (1)
6.4.2 anion (1)
6.5 The following is a graphical representation of a metallic bond.

GGG

i

Sea of delocalised YAV AY 7 Positive atomic
electrons @%%%%%@ kernels
6.5.1 By making reference to the diagram above, explain why metals are
good conductors of electricity. (2)
6.5.2 State one other property of metals. (1)
[12]
TOTAL MARKS: [60]

Copyright reserved Please turn over




-

pansssas Wbukdon

SIN=INZT3 40 3718VL OIdORI3d 3HL -€ 31aVL

, 8¢e cee
J7T {ON |PWN jwd | s3 | JO | Mg |wo | wy | nd | dN | N | ed | Ul
€0k | 20l 1oL | 00l 66 86 16 96 g6 6 €6 [45 16 06
SlL | €l | 6%l L9k | 991 | g9l 6SL | LIS ZsL | 0SiE 1442 34" ovi
N | gA|wL 43 |oH | AQ | 9L | PO | n3 | ws| wd| PN | 4d | @D p—
kL 04 69 8% 9 99 59 9 €9 Z9 19 09 69 8¢ | oy ey Sl 44 £
68 88 L8
60z |10 | ¥OC Loz | i6) g6l (26l |(06L [98F V8l 8L 6ll 6¢i Ll el
uy (v iiodiigoladds el =BH nv |id |4 SO (@4 (M |BL [JH 3/ e1 |edg 3/sD g
98 S8 14 €8 Z8 18 08 6. 8. L 9. Sl Vi el ZL LS 98 G
[beL 122k |82k (ZZk |6k | SHE (CHL [ 80i 90l | €0l %1]7 96 | ¢6 16 68 88 g8
19X | 1 HjeLRiasSLius | Ul PO BYSIPdRUMN NYNISLLIONSAN |4Z 2 A R4S 29y 2
|4 £g [4°] LS 0s 514 14 FA4 14 14 W Y 44 134 oy 6¢ 8¢g A
8 08 6. SL gL 0. 59 g'eo 69 69 9g g A ks | 8y *14 ov 6¢
M |Ig XS RISV E|9D 4|BD 5| UZ 5 ND 4| IN %00 % 8d S UANL| 40 5 o L %98 L/ BO S| M &
9¢ g¢ e €e (4 | 0¢ 6C 8¢ yx4 9¢ 74 144 €e ¢ | iz 02 6l
14 g'se Zg L€ 8¢ FAA pSSPLULIOO)R smanefal spispeuag ¥ €T
Iy (302 S & d RIS 3|3V 5 SSewl S1ole sAlejol sjewixosddy B o~ EN £
8l Ll 91 Si vl 132 & cl bl
0¢ 6l 9l vi cl ki —» §‘cg s 5 6 i
N : ‘M OLNEO w.v q jooquis no .N fojimnebouoIpiolg og 4 17 2
oL 6 g ; 9 o joquifig ol 3§wmmm=ohu2m ¥ e
14 a 2
8 P
H reyeBuiooyy TALATTSIATI H <
4 JSQWINU S1WoLY I
N N W N W m ®
8l Ll 9l Sl 145 €l Zl 37 ol 6 8 L 9 g 14 € 4 L




March 2016 Common Test

Physical Sciences P2

Question 3.1

Answer Sheet

Copyright reserved






J3A0 Winy 9ses|q

pansasal bukdon

[8]
@ . “ABssue [enuajod 0} papeauoo st ABlous jeeH  ¢'¢
(1) A Bugpwisemeoiayl  zZ¢
)
AATE
Va SNi E.z_ ML i m
09 iss Tosfevior|se 0z 81 | oL c
P L
13554 JO oulj oy Bumelq ]~ &
Apoawuos pagold suiod jiv| ~ EEE »
Apoa1i00 payold sjuiod o1 1E3) 1| ~ -
Apoawuiod payoyd syulod g 3ses) | »
SSOXe YJ0q Uo pue [8qe| pue SLL| »
e
€ NOILSAND
[s]
(1) ouuny Bugeredsg  z'¢Z
) A Uone|[RSIp [euonoeij/uone|EsIq  |L'E'C
@ 4 aseyd
BUO UBU} 310U Ut 812 S8oURlSqns au} seinixiw snosuabossley uj
 “eseyd swes
By} Ui [[e aJe SSOUBlSqnS fenplapul SU) SaInXIW snosusbowoy ujp gz
(@ A seInpxw snosuaboleloy
A Saunpaw snosusbouwoy LE
Z NOILSTND
Gl
@ rr QA €L
@ rr0.TL
@ s+8 VI
1 NOLLS3ND
0L °peI9 - OSN
1591 Uowwe) gLoZ Yolei z Zd ssousps jeolshyd

ARnaNT23D

JBA0 Wwin} ases|d pansasas Jybuided

‘sobed p 10 SISISUOD WNpURIOWAW SIYL

05 SMEVIN

noy | ‘JNIL

EER2oIETR-Ebe)
HOINZS TVNOILYN

L EE R E R LR R R E L RN
*

. WAGNVEOWEN .
. © 1831 NOWINOD .
9102 HOMVIN :
. (AMLSINTHO) n
" (zd)SIONZIOS TVOISAHd x

VOld4V HLNOS 40 2113gNd3y
uoneonp3 oiseq jo justijiedaq [eleN-njnzemy

uonesnp3 oiseg

—

R

S

52 \Sﬁ nvw



Jano wny aseeld pantesal kbuAdo
[os] :sxren jejol
fz1l
W - Snsn| ubiy
.  Kysusp ybiH
" Aemonq
£ 2lqesien
A¥eay o Qoﬁ:vceo poos)
—:josuofuy 759
@ A Sieueo ofiieyo se sjoe pue
. A~ ERw
au noyBnoly} Aj@el) 2AOW UBD SUCIOS[E PasedoepjoBaS SUL 169 §9
(3 » :Moo Tye
) »HN bve e
RO) ~ Ruge uonsis z€'9
1)  RBisue voneossiq L'g’g - €9
W Auny z9
{e) H
s o
t0:H - ,:0. + *H + ,.*H
It /e K ZLe
() A SONSBPON L'L9 LS
9 NOILS3ND
) 0} 3peI - OSN
158 UOLUWIOY) 9102 Yo 14 2d seouspg feaiskud

J9A0 twny asesid pantesas JybuAded

[sl
© o7 : “WMUUN[e Woly

cm£ win _mmcmmE WO} UOH0S[S 31} SAOLRS O} pepaau st ABious 210U SousH
 “[BuqIo dg sp ut uosoafe ajbuls e sey ey}
A wniuiwnge ueu Aqes sojeaib jo sjejs e sjuosaidal st

 “polig Ai915idwo [efigio s¢ sey wnisaubeyy €6

(e) oA mco.num_m 9o mE uo pepiexe w_ uonoeme Jo 2010y JoBucs v
 soseaJoul ofeyo teaenu syl
_ SISEaI0U} JaquInU Jiwole au L

— B O] YO WO} SACW 8MSY 22§

. S
(9]  "seseasou; ABreus uogesiuo]  L2s 7 Z°§
W - i _ ‘aseyd snooseb
: oy} ur Wwoe _m._Smc B woly :o.svm_m um.c ayj erowsas o) panbas ABleue auL LG
$ NOILS3IND
[o1]
W) A202EYT =
00} 00} 0oL
_) + —} + ) = §SI O[WO; e
amx o :‘v Gmx 00" om ?wx 6% nv BN JLIONY SAREISY .
0] - ‘ 4 SUONNBN  ZT¥
) - ~ ‘S1IOquInU SSEL JUsIoP Ing Jaquinu
" oluwore aies ay} Buiney ‘UsWSie SWES 3y} JO swoje slesadolos| LZv YV
(&) st
ETA
dz
sg
%€ zip
) : AN N A 4
¥ NOILSINO
E ; 01 9peID - OSN . 3
s8] uowiwod 910¢ YaeN € 2d Seouas [eoishyd




